

Apartment in Mosta



Mosta, Central



€420,000

Reference No: 240231074-133

 Total Rooms: **5**

 Floor Area (m²) : **89**

 Bathrooms: **2**

 Bedrooms: **2**

Apartment - For Sale - Mosta

MOSTA - CORNER APARTMENT situated in a sought-after area at the 3rd floor served with lift. Property comprises of a large Kitchen/Living/Dining, Bathroom, 2 double Bedrooms (main with En-suite) Balcony and a front Terrace. Being sold Furnished and Freehold. For viewing or more information, kindly get in touch with your preferred RE/MAX property consultant.

Features

- ✓ Lift
- ✓ Ceramic Floor
- ✓ Marble Floor
- ✓ Soffit Ceilings
- ✓ PVC Piping
- ✓ Skirting
- ✓ Terrace
- ✓ Kitchen/Dinette
- ✓ En Suite
- ✓ Electricity Utility
- ✓ Gypsum Plastering
- ✓ A/C
- ✓ Double Glazed
- ✓ Balcony

Rooms

- ✓ Hallway : 4.6 x 1.25 m (5.75 m²)
- ✓ Kitchen/Living/Dining : 7.69 x 4.5 m (34.61 m²)
- ✓ Open Space : 1.5 x 1.5 m (2.25 m²)
- ✓ Double Bedroom : 4 x 4 m (16 m²)
- ✓ Double Bedroom : 3.1 x 4 m (12.4 m²)
- ✓ Bathroom : 3 x 2.12 m (6.36 m²)
- ✓ Open Space : 3.2 x 2.22 m (7.1 m²)
- ✓ Bathroom Ensuite : 2.61 x 1.3 m (3.39 m²)

Gallery









Mark Muscat

RE/MAX Centerparc - Qormi

M: 77864935

E: mmuscat@remax.com.mt

T: 27344344

RE/MAX Centerparc - Qormi

Centerparc Complex, Flrst Floor,Triq it-Tigrijiet, Qormi, Malta